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= 53 K 4 50 5 A E ARn 4 R HE R HE DR
— i EA = 384, 716 382, 052 2, 664 0.7
I R B S M R R A 3 19, 957, 713 20, 035, 914 A 78,201 A 0.4
s = 20, 342, 429 20, 417, 966 A 75,537 A 0.4
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N5 AR AR 4R - -
X ) HERA HER R
Kot Rk b SRR TRk b

Sy A kYA H 4 167, 295 43.5 145, 755 38.2 21, 540 14.8
Jei = H 4 107, 422 27.9 128, 153 33.5 A 20,731 A 16.2
123 53 Hi 4 55, 856 14.5 66, 092 17.3 A 10, 236 A 15.5
fo ik 4 100 0.0 100 0.0 0 0.0
i A 2 0.0 2 0.0 0 0.0
foh A 4 54, 041 14. 1 41, 950 11.0 12, 091 28. 8
& = 384, 716|  100.0 382,052|  100.0 2, 664 0.7
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5 = oy 780 0.2 718 0.2 62 8.6
MY % # 77,919 20.3 75, 783 19.8 2,136 2.8
B H # 279, 453 72.6 280, 519 73. 4 A 1,066 A 0.4
75 T # 26, 264 6.8 24, 732 6.5 1,532 6.2
2 53 H 4 100 0.0 100 0.0 0 0.0
Y 1 # 200 0.1 200 0.1 0 0.0
& = 384, 716|  100.0 382,052|  100.0 2, 664 0.7
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PR 5 £t 4, 440, 348 22.3 4, 420, 372 22.1 19, 976 0.5
AN = N R O O~ I = < 2,968, 189 14.9 2,968, 987 14. 8 A 798 0.0
i B & O F &R 10 0.0 10 0.0 0 0.0
ES| J b3 H 4 4,074, 097 20. 4 4,211,989 21.0 A 137, 892 A 3.3
xRk & T 4 5, 093, 649 25.5 5,127, 337 25.6 A 33,688 A 0.7
I * H 4 2,763, 633 13.8 2,760, 429 13.8 3, 204 0.1
i A & 614, 889 3.1 543, 638 2.7 71, 251 13.1
ok ik 4 2,000 0.0 2, 000 0.0 0 0.0
B 1 A 898 0.0 1, 052 0.0 A 154 A 14.6
A B PE 1% A 0 0.0 100 0.0 A 100] A 100.0
& = 19,957,713  100.0[ 20,035,914 100.0 A 78,201 A 0.4
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b % # 516, 333 2.6 487, 955 2.4 28, 378 5.8

PR 5 bt £+ 18, 206, 593 91.2| 18,360, 105 91.6 A 153,512 A 0.8
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om0 ®OF OE B 1, 120, 945 5.6| 1,071,403 5.4 49, 542 4.6
N & # 100 0.0 100 0.0 0 0.0
E 53 H & 108, 742 0.6 111, 351 0.6 A 2,609 A 2.3
B fii # 5, 000 0.0 5, 000 0.0 0 0.0
& | 19,957,713 100.0| 20,035,914 100.0 A 78,201 A 0.4




